B Time allowed: 45 minutes

B Part A: 15 multiple-choice questions {30 marks)
B Part B: 10 free-response guestions {70 marks)

Part A

15 multiple-choice questions
2 marks each: 30 marks
Circle the correct answer.

1 The cost of a journey in a taxi cab consists of a

starting charge of $5 plus 80 cents per kilometre.

Which one of the these graphs shows this?

A B

Cost
Cost

Number of kilometres " Nuraber of kitometres "

Cost
Cost

Number of kilometres Number of kilometres

2 What is a possible equation of this graph?

Jl)‘
:'/ i
Ay=%,\'+l B y=5x—1
Cy=-ix+1 Dy=-yr—1

3 Which type of graph has no x-intercept or
y-intercept?
A circle with centre (0,0)
B line C parabola
D hyperbola with axes as asymptotes
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Name:

4 What is a possible equation of this graph?

)l
+ ﬁ
Ay=xt2 B y=x’-2
Cy=-¥"+2 Dy=-x-2

Which one of these is not the equation of
a line?

Axty=1 B y=x
C.l’)’=l Dy::l

Which type of graph has two axes of
symmetry?

A circle B hyperbola
C parabola

If the equation of this graph is y = ax’ + ¢,
then:

A ais positive B aisnegative
C cis positive D c¢isnegative

The graph of 4x — 2y =01is a:

A cubiccurve B hyperbola
C line D parabola
The graph of y = 2¢* 4 1 is a:

A cubic curve B hyperbola
C line D parabola
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Topic test 11: Graphs continued

13 If the equation of this graph is y = %_‘2_ b,

2,
10 The graph of y = T s a what is the value of b?

A cubic curve B hyperbola y
C line D parabola
11 A bali rolls down & ramp, Which graph comectly
shows the distance travelled by the ball? - -4\/4 X
b
A Y
A BL A 2
B4
8 ] C8
A a D 16
. . 14 Which speed graph shows Michael riding his
Time Time bike atong a flat road with a small hill in the
C D middle?
A B
3 8
& a 7 AN 1
(%] [77]
Time " Time 7
’ﬁme " Time "

12 Wheat is emptied from this storage bin.
Which graph best shows the height of c D

the grain in the bin as it empties?

Speed

Speed

-/

A B Time Time
\ :
15 What is a possible equation of this graph?
z e
Time Time g /\

@]
o)
‘\I
o
A/N
=Y

3 £ Ay=a-2
] £ B y=-4+x°
Cy= K42

Time Time - Dy= -+? +4
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Topic test 11: Graphs continued

Part B
10 free-response questions
70 marks
Show working where appropriate,

16 (10 marks) This graph shows the amount of
traffic on the Sydney Harbour Bridge over a
24-hour period.

— Y [ 111

'814.,,, Tt i {

R

2 NEARRNEN/

S 101 N

54 e DTS \

g SRIARRNE

2 64

] ) L TN
2 N, i i

& o LT

12:00 3:00 6:00 9:00 12:00 3:00 600 9:00 12:00
midnight  am noon pm  midnight
Time of day

a Name the independent variable.
b What was the lowest fraffic volume?

¢ Name iwo consecutive hours when the
traffic volume was the same.

d Name the hour when the traffic in the
afternoon was at its highest.

e At what hour did the traffic volume
increase most rapidly?

17 (4 marks) Graphy=1x — 4.

A Y

£ LA

— 2 R

, -~

ety

1

O

1

(o

]

—

=]

—_

%)

L

-
¥

NEW CENTURY MATHS 10: 5TAGES 5.1/5.2

graph.

A

A

Y

('3» '2)

A

18 (2 marks) Write a possible equation for this

:_:\V

19 (8 marks) Water filis each bottle at a constant
rate, and the height level of the water is
graphed. Match each bottle to its comrect graph.

a ;j b
c E d
A, B
g g
£ 4
Time 7 Time >
C., D
Time i Time ;
E ¥,
f f
Time " Time >
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Topic test 11: Graphs continued

20 {11 marks) | 22 (8 marks) Match each graph to its equation.
a Complete this table for y = T a Ay b Ay
b3 -2 - - 1213
TP 2 2
¥ « >).' «- > ¥
3.-3) 2,-8)
b Why is there no value fory when x =07 ¥ ¥
C Ay d Ay
l
¢ Graphy= = R
Ay /‘\
. < > >
I
B o\(2,-2)
3 TN O B - v v
B . Ay=x
B B y=-x
< N 9
3 12 74 Jo 2 X Cry=-3
9
‘J'. . D 1=
—_ SR P .) -‘-
2 E y=-247
I D . Fy=-"42
3L .
Y 23 (2 marks) A bowl of hot soup sits on a table
d Find the value of y when: cooling. It loses heat quickly at first but as
. time passes it loses heat slowly, Hlustrate this
ix=02 .
cooling process on the temperature graph
below.
il x=350 A
21 (4 marks) Write a possible equation for this °
graph, g
-~ J’ ‘g
5
=
3.3
Time !

H"

N
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Topic test 11: Graphs continued

24 (12 marks) This graph shows Grace’s bicycle
journey on a training ride.
1 Grace’s journey

o
<
T

[523
=}
|
1

-}
\

\

[=]

Distance from home (km)
W3
<

25 (9 marks)
2

a Complete this table for y = 1"
1

X B T . I 0

t] >
10:00 1§:00 12:00 1:00 2:00 3:00 4:00
am noon pm

Time of day

a What was Grace's speed at the beginning
of the journey?

b At what distance from home did Grace
first stop?

¢ At what time is Grace riding at a speed of
30 kim/h?

d What was the total distance travelled
during the journey?

¢ What was the lowest speed at which Grace
moved during the journey?

f When did Grace start heading back home?

MNEW CENTURY MATHS 10: STAGES 5.1/5.2
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|
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o
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tn
-

b o

|
KN

o
W

)
N

Y

¢ What are the coordinates of the vertex?

d How does the graph of y = %.\2 compare to
the graph of y = x*?

END OF TEST.

Use the rest of this page and the back
for extra working space.
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1

§ Graphs

T Time allowed: 43 minutes
B Part A: 15 multiple-choice questions (30 marks)
¥ PartB: {0 free-response questions (70 mharks) )
Part A
15 multiple-choice questions
2 marks each: 30 marks
Circle the correct answer,

1 The cost of 2 journey in a taxi cab consists of a
starting cherge of $5 plus 80 cents per kilomeire.
Which one of the these graphs shows this?

A (5) "

Cest

Number of kilometrod Numbar of ki) oaecs

C D

| ﬁ

Cost
Cost

Number of kilomeires Number of Mlometes

2 What is 2 possible equation of this graph?
b

Cy=-fx+l

3 Which type of graph has no x-intercept or
y-intercept? .
A circle with cenire (0,0)

B mn.\n\ C parabola
@wﬂﬁ&o? with axes as asymptotes

NEW CENTURY MATHS 10: STAGES 5.1/8.2

Name:

4 Whatis a possible equation of this mraph?

4

Ay=xt+2 i =2
Cy=-x"+2 o) A

3. Which one of these is not the egtation of
a line?
Axty=1 B y=x

@up D y=1 ,

6 Which type of graph has two axes of
symmetry?

S
A circle \g%&gt

C parabola

7 If the equation of this graph is y =ax” + ¢,
then:

B aisnegative
D cis negative

®Hm positive

C ¢is positive

3 gmﬁuﬁ:.owﬁlmwuowmn
cybic curve B hyperbola

A
@ line D parabcla

9 The graph of y = 25" 4 1 js a:
A cubie curve B hyperbola

C line @\535

€ Helson Austrelic Pty tid 2008

2

Topic test 11: Graphs condnued

i
10 The graph of y um.wm a

Vv
4, cubic curve byperbola

D parabola

T1° A Ball xolls down & ramp. Which graph correctly
shows the distance travelled by the ball?

Distznze
Distance

Distarce
Distaree

Tlme : Yime

12 Wheat is empued from this.storage bin,
Which graph best shows the height of
the grain in the bin as it empties?

.&4 B
i =
3 z
Tioe * Time
c )/ D
K] =
Time Tiae -

NEW CENTURY MATHE 10: STAGES 5.1/5.2

" 13 What is a possible equation of this graph?

13 ¥ the equation of this graph is y =%~ 5.
what is the value of b? ,

M

A2
4
&/
D 16

14 ‘Which speed graph shows Michael riding his
bike along a flat road with a small hill in the
middle?

A B
1

Speed
Speed

“Time Time

% A%
A

Time Tl

Spead
Spead

¥

© Melson Austrofia Pty Lid 2008
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Topictest 11: Graphs comtinued
24 (12 marks) This graph shows Grage’s bicycle 25 (% marks)

uoﬁdow on a training ride. a Complete n.cm table for y =4
EVEIETEV N
Tace’s Journey ‘|w :‘;ﬁ P ﬁ&m‘ _\ ﬁ _@

[ I
[ [T
|
At
‘
I
|
|

b Graphy =1

\

i
[
|
_
ﬁ
[
h ]
|

L
| v ] I~
wog 1100 12:00 1:00 2:00 moc A.oc
neon  pm
Time of day

Distance from home {km}

:
‘
“

E

2 ‘What was Grace's speed at the beglnning L|_.
of the journey?

_ ol S

b At what distance from home did Grace
first stop?

20k /S

¢ At what fimeis Grace Ewnm at a speed of
30 km/h?

o
Nl\ 20~ 2. W(M pot \ ¢ Whar E,nEM Moo%nw:ma.vn%ﬁn vertek?

d "What was the tota] distance travelled
during the journey? d How does the graph of y =, an compare to
. 3
E® Loy v Enm.‘q%wo@ =57
e Wiy, \

Laf 1]
SN

& What was the lowest speed at which Grace

moved during the journey?
106wt /S
. . , END OF TEST.
f When did Grace start heading back home? Use the rest of this page and the back
/-30 Ve for extra working space.
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